
SAP ABAP table JHAP {IS-M/AM: Order-Publishing-Media Item}

JHAP

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

POS_ART [CHAR (2)]

PSTYV [CHAR (4)]

WERBK_TYP [CHAR (2)]

BRAN_PAM [CHAR (10)]

VERMITTLER [CHAR (10)]

VNR [CHAR (10)]

BEDNR [NUMC (6)]

PROSL [CHAR (5)]

KAMPAGNE [CHAR (6)]

WERBK_POS [NUMC (3)]

WERBK_EINT [NUMC (6)]

REF_AVM_NR [CHAR (10)]

REF_POS_NR [NUMC (3)]

SUC_AVM_NR [CHAR (10)]

SUC_POS_NR [NUMC (3)]

VORL_AVMNR [CHAR (10)]

VORL_POSNR [NUMC (3)]

FPRG_MEIN [UNIT (3)]

STORNOGRND [CHAR (3)]

STAFO [CHAR (6)]

BSARK [CHAR (4)]

 JHAP-REF_POS_NR = JHAP-POS_NR 
0..N1

 JHAP-SUC_POS_NR = JHAP-POS_NR 

0..N0..N

 JHAP-VORL_POSNR = JHAP-POS_NR 

0..N
0..N

 JHAP-WERBK_POS = JHAP-POS_NR 

0..N1

JHAE

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

POS_NR [NUMC (3)]

UPOS_NR [NUMC (4)]

EIN_NR [NUMC (6)]

 JHAP-WERBK_EINT = JHAE-EIN_NR 
0..N

1

JHAK

MANDT [CLNT (3)]

AVM_NR [CHAR (10)]

 JHAP-AVM_NR = JHAK-AVM_NR 

0..N

1

 JHAP-REF_AVM_NR = JHAK-AVM_NR 0..N

1
 JHAP-SUC_AVM_NR = JHAK-AVM_NR 

0..N

1

 JHAP-VORL_AVMNR = JHAK-AVM_NR 

0..N

1

JJTVB

MANDT [CLNT (3)]

VNR [CHAR (10)]

BEDNR [NUMC (6)]
 JHAP-BEDNR = JJTVB-BEDNR 0..N

1

JJTVV

MANDT [CLNT (3)]

VNR [CHAR (10)]
 JHAP-VNR = JJTVV-VNR 0..N

1

T000

MANDT [CLNT (3)] JHAP-MANDT = T000-MANDT 0..N

1
T176

MANDT [CLNT (3)]

BSARK [CHAR (4)]

 JHAP-BSARK = T176-BSARK 
0..N{0,1}

TBRC

MANDT [CLNT (3)]

BRACO [CHAR (10)]

 JHAP-BRAN_PAM = TBRC-BRACO 

0..N

1

TJH17

MANDT [CLNT (3)]

AVMPOS_ART [CHAR (2)]

 JHAP-POS_ART = TJH17-AVMPOS_ART 

0..N

1

TJH23

MANDT [CLNT (3)]

PRSCHL [CHAR (5)]

 JHAP-PROSL = TJH23-PRSCHL 

0..N

1

TJH91

MANDT [CLNT (3)]

WKOMBI_TYP [CHAR (2)]

 JHAP-WERBK_TYP = TJH91-WKOMBI_TYP 

0..N

1

TJHAP

MANDT [CLNT (3)]

PSTYV [CHAR (4)]

 JHAP-PSTYV = TJHAP-PSTYV 

0..N

1

TJHSTOG

MANDT [CLNT (3)]

STORNOGRD [CHAR (3)]

 JHAP-STORNOGRND = TJHSTOG-STORNOGRD 

0..N

1

TJJKAMP

MANDT [CLNT (3)]

KAMPAGNE [CHAR (6)]

 JHAP-KAMPAGNE = TJJKAMP-KAMPAGNE 

0..N

1

TMCB

MANDT [CLNT (3)]

STAFO [CHAR (6)]

 JHAP-STAFO = TMCB-STAFO 

0..N

1


